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After the Recession: A Monetary Policymaker L ooks Ahead
l. Good afternoon.
A. It's a pleasure to be here with you today.

B. | want to focus my remarks on the national economy and the implications
for monetary palicy.

1 I'll dso say afew words about conditions here in Portland.

C. I’ll be glad to take your questions afterward, as well as any comments you
may have.

. As|’m sure you know, the Federal Open Market Committee sets the nation’s
monetary policy.

A. And at each of this year’ s three meetings, we decided to hold the federd
fundsrate steady, at 1-3/4 percent.

1 In our pressreleases in March and May, we explained that we felt
the risks for the foreseeabl e future were balanced between our two
main goas—

a) —price stability
b) and sugtainable economic growth.
B. Let me explain my own thinking about where policy sands.
[l. Firg, I think we ve gotten agood bit of positive economic newsthisyear.

A. The economy grew very fast in the first quarter.

1 And that makes it pretty clear that last year’ s recession—thefirg in
ten years—is over.

B. A key factor isabig turnaround in business spending on inventories.



1 During the recession, this spending plummeted—
a) —but that worked to set the stage for growth this year.

2. In fact, this category of spending actually accounted for nearly two-
thirds of the growth in the first quarter,

a) and it probably will continue to boost growth for awhile
longer.

3. But inventory spending is atemporary factor—

a) —once inventories gpproach desired levels, spending will
taper off.

C. S0, to keep the expansion going, we' |l need to see businesses pick up their
spending on what they use to produce their goods and services—

1 —this category of investment is known as equipment and software.

2. During the boom years, this type of invesment basicaly “overshot”
—especidly when it came to high-tech.

a) For five solid years up through 2000, firmsinvested in high-
tech at phenomend rates.

b) And when they pulled back, beginning in 2001, they did so
sharply.

3. In the last quarter, we did see some signs of improvement here.

a Although businesses were Hill pretty cautious about
spending on equipment and software,

b) they were less so than they had been last year.

C) Moreover, busnessinvestment in information processing
equipment and software showed an increase for the first time
inover ayear.

D. Turning to the consumer Sde, spoending so far this year has been growing at
arate |’d have to cdl respectable, especidly considering how well it held up
during the recession.



1 Moreover, we' ve also seen remarkable strength in the housing
Sector.

Looking ahead, a very postive sign is our productivity performance.
1. It grew
a) a avery strong rate in the last quarter of 2001,
b) and at arather astounding rate in the first quarter of this yeer.

Of course, some of that performance is due to temporary factors, especidly
those related to September 11.

1 Sincethat day,

a) alot of firms have trimmed their workforces or been
cautious about expanding jobs—
D —because they thought the economy might be weak.
2. Now that the economy has turned out to be so much stronger,
a) firms have managed to increase production

(1) by getting their people to work overtime
2 or just by getting them to work harder.
b) And this obvioudy can’t go on for long.

Beyond the temporary factors, though, the sheer strength of the productivity
numbers suggests that more enduring forces also are at work.

1 For one thing, productivity growth was postive during the
recess on—which is pretty unusud.

a) In atypica recesson, productivity growth turns negative.

2. For another, there' s reason to think that al the technologica change
and invesment in high-tech | mentioned before are probably il
boosting productivity.

a) After dl, it often takes some time for workers and firmsto
redize all the potentia of new technologies,
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b) S0 it dso takes some time for the full effectsto show up in
the productivity data.

Findly, those strong numbers support the view that the process of
technological innovation that drives productivity in the long runis
dill dive and wel.

Thelagt pogtive I’ll mention isthe imulus that’ s in the pipeine from both
fiscd and monetary policy.

1.

Congress

a) passed two packages last year that are providing substantia
dimulusthisyear.

b) And this March, they passed a package that includes
Q) extended unemployment benefits
2 and abig tax break on equipment and software
spending made between September last year and
September 2004.
On the monetary policy sde,

a) the Fed cut interest rates deven times last year

Q) for atota reduction of four and three-quarters
percentage points.

b) That brings the federd funds rate to avery low 1-3/4
percent.

Now let meturn to the risks.

A.

One has to do with consumers.

1

In most recoveries, there' s abig bounce in demand as consumers get
back into the spending mode—especidly for big-ticket items.

But, as| said, during the recession, consumers didn’t redlly dow
their spending that much,

a) s0 growth isn't likely to get that big a push from consumer
spending.



B. Another possbly tempering factor involves uncertainties about

1.

2.

4.

corporate profits
and the value of equities.

a) These uncertainties, of course, have been accentuated by
concerns about corporate accounting practices.

Both factors are important in determining how much firmsinvest in
capitd going forward.

And, of course, equity vaues dso affect consumer spending.

C. Findly, there sthe ail Stuation.

1 So far, the surge in ail prices hasn't had abig effect on the economy.
2. But the turmoail in the Middle East crestes alot of uncertainty on that
front.
V. Let me wrgp up this discussion of the nationa economy with some of my views on

how these developments play out for monetary policy.

A. As| said, we decided to leave the federd fundsrate at 1-3/4 percent.

1 That'sthe lowest rate in 40 years,
2. and it's quite Simulative.
B. Let me explain what | mean by “dimulative.”
1 The “red interest rate’—that is, the rate adjusted for inflation—

a) —isbeow the “equilibrium red interest rate’—that is, the
rate where overdl supply and demand in the economy arein
balance.

2. To put some rough numbers on those concepts—

a) —with the core consumer inflation rate somewhere between
1 and 2-1/2 percent,

D thered interest rate today is near zero.



3.

b) And most economigts figure that the current redl equilibrium
rate is between 2 and 3-1/2 percent.

Rough as these numbers are, they show that the red interest rate is
well below the red equilibrium rate, and that stimulates demand.

So, once the expansion redly takes hold,

1

2.

the funds rate will have to move w,

or we ll ignite inflationary pressures.

For now, though, | think we can be ddiberative in approaching the issue of
when policy has to change and how aggressive it hasto be.

1.

For one thing, core inflation doesn't appear to be an imminent
problem,

a) because there' s ill quite abit of excess capacity left inthe
€conomy,

b) and because accderating productivity growth will dampen
inflationary pressures for atime.

For another, there' s fill some remaining uncertainty about the
srength and durability of the recovery.

What's certain is that

1

the Fed will do what it takes to preserve the gains we ve made
agand inflation,

because that’ s the best way we can contribute to economic growth
and prosperity for our country.

V1. Now let meturn briefly to theloca scene.

A.

Here, the story | told about business investment in information
technology—or “1T"— looms especidly large.

1.

Oregon ranks sixth among al gatesinthe IT share of totd
employment, and seventh in the I T share of wages.

So when sdles of IT products plummeted |ast year, the economy
here took a big hit.



a) High-tech manufacturers and service providers cut
employment sharply.

D These job losses had especialy serious consequences
for the rest of the economy aswall,

2 since, on average, Oregon’s high-tech sdaries are
about twice as high asitsoverdl sdaries.

In fact, Oregon was one of the nation’s dowest performersin 2001.

a) Overdl employment fell severd percentage points,

b) and Oregon has been vying with Washington for the
unfortunate pogtion of the state with the highest
unemployment rate
Q) and the dowest growth in income per capita.

C) The falout has been felt throughout the private sector,

d) and aso by the state government,

D which faces alarge revenue shortfdl in the middle of
itsbiennid budget cycle.

This recession has been degper and longer for Oregon than the early 90s
recession.

1

In that sense, your stat€e' s high-tech successin the 1990s has been a
mixed blessng:

a) It propelled strong growth during the expansion

b) but left you more exposed to the downturn.

Fortunately, that downturn is coming to an end.

1

2.

Job losses here have dowed,

and the firming of demand for high-tech equipment that | noted
earlier should encourage business investment in coming months.

Moreover, in asign of underlying strength, housing demand in
Oregon has been very robust this year.



a) This suggests that income and wedth remain high.
b) And despite the weak economy,
Q) Oregon remains an ditractive place to live, with its
population growth ranked tenth among the States last
year.

4. So dthough the state economy is not out of the woods yet,

a) the high qudity of life will help Oregon return to a solid
growth path once the nationd recovery isfirmly in place.



